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Chapter 1

Monte Carlo Methods in Inference

Monte CarloJj i I LAFis Gt - HE W7 552 58 43 Hr v A8 ] {8 F Bt BT BSR40 1) 5
o A AT LG W i\ Monte Carlo/77%. Monte CarloJ7 i n]
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&

1.1 Monte Carlo Methods for Estimation
BEX1, -, X A BEX BB A, 301511 B

6=0(X1,--,Xn)
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ite = (x1,-an)T € R™, B 2, 2®) - g X i — 51k
SERIBERURE A ) A7 5 T-OlE Tuma.m. A0, - 2, § =
- KWL

1.1.1 Monte Carlo Estimation and Standard Error

Bl 1: BRI X1, Xo did ~ N(0,1), fEiHE| X1 — Xal.

AR, 0 = E|X1 — Xa|JMonte Carlofli v1 7T F il ik M #5 #E 1E 4 43 Aii
s emA A 20) = (@, 29)), 5= 1, me BIE R 6O
|2 — 2,5 =1, m. DO

A1m.
9%;

FER AR A 5 e

m

Z @ _ 0|,

1
m

FCode
m <- 1000
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g <- numeric(m)
for (1 in 1:m) {
x <= rnorm(2)
gli]l <- abs(x[1] - x[2])
}
est <- mean(g)
est

1Code

BATEAT U HE|X, — Xa| = 2/v/7 = 1.128379 LM £ Var(| X1 —
Xo|) =2 —4/m. FILEG = 2//7, Var(0) = [2 — 4/7]/m.

XJ bR HE 7 [ Monte Carlo fili th BATTR] LU — k35 & R T8, B TREA
BOnIIRE AR bR 2 N/ Var(X)/m, X5 KM, w] LU
H” Plug-in” A48 7F: H

Var(X) = % S (@i — 7).
=1
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PR] e XA 22 A -
do(7) = —— {—(wi — %)
ERIE PR i
1 1 1/2
se(z) = { (i — a’c)z} .
m—1

Ik, w1 AR TN

SRR

TCode

sqrt (sum((g-mean(g))~2))/m

#sd(g)/sqrt(m) #for unbiased estimator
L Code
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1.1.2 Estimation of MSE

Monte Carlo 75 % 1] LU F7H & — A v i IIMSE. — AN iF 5 IMSE %
MHMSE@) = E[6 — 62, WmRMSEX PP TmAREAzD o 2(m)]
MO MSEI)Monte Carloftiith

MSE =+ > (09 —0)?,

mi

H90) = §(z9).

5l 2: fEFfMonte Carloy & HPEEAH R BRIIES_, BMSE.

S REAAELE S A AU, AR T REACH (00 R M T A R R R, B
B0, ) Xl ABUREAR, X1y, ) X oy 0 00 P,
AR RRE A

B 1 n—k
Xk = —5 i:zkilx(i).
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—A> Monte Carlo {8k~

1. Bt FHSRIZAMAEELTE j=1,--- ,m
o PAEAXEHA 2D L 2§
PERAA 2D <o <)

( )
o i T 2 Ez 2 x
2. it AMSE MSE(T) = iZ}ll(T(]’) 92 =
L (1@)2,
SEPURR P I
TCode

n <- 20
m <- 1000

tmean <- numeric(m)
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for (i in 1:m) {
x <- sort(rnorm(n))
tmean[i] <- sum(x[2:(n-1)]1) / (n-2)
}

mse <- mean(tmean~2)

mse
sqrt (sum((tmean - mean(tmean))~2)) / m #se
LCode

HEBEPIMSERAETF40.0504531 (se = 0.007). FEAEK MSEAVar(X)/n =
1/20 = 0.05. 53— 5T, TFALECA BT Lt — R R I 18, a7 BRrP IRl

TCode
n <- 20
m <- 1000
tmean <- numeric(m)
for (i in 1:m) {
x <- sort(rnorm(n))
tmean[i] <- median(x)

}
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mse <- mean(tmean~2)

mse
sqrt (sum((tmean - mean(tmean))~2)) / m #se
iCode
MNITTFE A (7 E I MSEf 7+ 40.075(se = 0.0086).
5l 3: LEBAMREESAH SN TRE (SR ESSH FTHLKFEEENE
fEITRIMSE.
pN (0,02 = 1) + (1 — p)N(0, 0% = 100)
FAVE — A B Bk A R IR FIp T 548 R B E X [ IMSE. MR &
A AN, EiREP(o = 1) = pyP(oc = 10) = 1 — pKFEHlLIE
Fo. WRIESMPE 4 H ¥ rnorma] LLE S50 EA1E W brdE i 2. %
Ep =1.0,0.95,0.9 Ll ek =0,1,--- ,n/2. KILFEFWT
TCode

n <- 20; K <- n/2 - 1; m <- 1000;
mse <- matrix(0, n/2, 6)
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trimmed.mse <- function(n, m, k, p) {

}

#MC est of mse for k-level trimmed mean of
#contaminated normal pN(0,1) + (1-p)N(0,100)
tmean <- numeric(m)
for (i in 1:m) {
sigma <- sample(c(1l, 10), size = n,
replace = TRUE, prob = c(p, 1-p))
x <- sort(rnorm(n, O, sigma))
tmean[i] <- sum(x[(k+1):(n-k)]) / (n-2xk)
}
mse.est <- mean(tmean~2)
se.mse <- sqrt(mean((tmean-mean(tmean))~2)) / sqrt(m)
return(c(mse.est, se.mse))

for (k in 0:K) {

}

mse[k+1, 1:2] <- trimmed.mse(n=n, m=m, k=k, p=1.0)
mse[k+1, 3:4] <- trimmed.mse(n=n, m=m, k=k, p=.95)
mse[k+1l, 5:6] <- trimmed.mse(n=n, m=m, k=k, p=.9)

round (n*mse, 3)
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SR, BE PR A T (BRI AN V) 75 SR 2 A By Je i e I MSE.
1.2 Estimating a confidence level

FER FGEvt vh 4 38 3 1 — AN ) U A T BRI 4 A Lt VEEH ISt
T D7 M T H AR T IES MRS T . AESebrh, SRR IES A
G, AT RO A AT REAN R B R Bon R oR, I, Monte Carlo Jy¥2:
Wy BLRSRBEAT GEvt-HE .

TBBE(U, V)R FSHO M EAE X, MG U, VIR A s e 4
XA Fx . BEACTFZ XA (U, V) e i 0 BB M. R Al &
fE7KP i — ARG v

FE D 2% 17 22 ) AR DX A T . b F) D7 v X TE 2 P AR AR UK R
FERHE (REAS) (5 IE S0 I, BAT 1A i Monte Carloly VAfl v+ FLSE I EAH
AP EAIERBGE N 22 A A XA T (bR HE T k)
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Bl 4. FEMEEXE HRX1, -, Xn, iid~ N(u,o02), n>2 52K
REARTT 22, W)
(n—1)8?

2
o2 ~ Xn—1

A2 —AN100(1 — o) Bl LA N
(0, (n —1)S?/x2(n — 1))

MITAER BN (0,02 = 4)TBEHLIMIN = 20 FEAR, W52 (M%95 B A5
S REFRTE

n <- 20

alpha <- .05

x <- rnorm(n, mean=0, sd=2)

UCL <- (n-1) * var(x) / qchisq(alpha, df=n-1)

FRATT AT LA FH Pl o TEUE 0 T 2 6 () A 7K
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m<-100000
ucls<-numeric (m)
for(i in 1:m){
x <- rnorm(n, mean=0, sd=2)
ucls[i] <- (n-1) * var(x) / qchisq(alpha, df=n-1)
}
ind<-ucls>4
cov.rate<-cumsum(ind)/1:m
plot(2:m,cov.rate[-1],type="1")
abline(h=0.95)
L Code

LRI BAR AT L IR, 6 B 1 B AT Al o I — ek
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1.

2

3

4.

BIXX ~ Fx, Bt EHHO. Mtj=1,--

FAF AR 2,
HHEATFHMEAGERRAC
Wiy, =1(0 € Cy)

HHZR ERRPY = =30 v

5] 5. B{E7KFHIMonte Carlofliit £ E—AMFITH, BAMEH T for 7531
RS o2 FImAN B EAL. BA 1 n] L# freplicate i L

n <-

20

alpha <- .05

UCL <- replicate(1000, expr = {
x <- rnorm(n, mean = 0, sd = 2)
(n-1) * var(x) / qchisq(alpha, df
)

TCode

= n-1)
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#iHH  sigma~2=4 1 X 1] %
sum(UCL > 4)
#U A0 I E SR CEEKE)
mean (UCL > 4)

L Code
replicatef H T EPATHARILBALEL}H, S8 expr ] LA — Ak
‘ TCode
calCI <- function(n,alpha){
x <- rnorm(n, mean = 0, sd = 2)
return((n-1) * var(x) / qchisq(alpha, df = n-1))
}
UCL<-replicate(1000,expr=calCI(n=20,alpha=.05))
mean (UCL>4)
L Code

Previous Next First Last Back Forward 14



A T U 00 4 DX TR A8 32 T v e ST AR IE A MR e B, G SR (O
AV AIMIERS 530, W) FOIER B K T A
(n—1)8> 2y praz o ToXan—1) x5 (n—1)
m>0’)—P(s> n—1 )71—G( n—1
KHEGH G RS2 A, A T8 5K T2 TG () = P(S? <
t) = fg g(z)dz, MifiMonte CarloF4 i vh 77k n] LARE IR AL TH IR 53

P( ).

Bl 6: ZWEIBFKT G5, BEFEARM G, WERKEFAKTES
7 BEIN T AR 24

TCode
n <- 20; alpha <- .05
UCL <- replicate(1000, expr = {
x <- rchisq(n, df = 2) # Mchi~2(2) Pk
(n-1) * var(x) / qchisq(alpha, df = n-1) } )
sum(UCL > 4)
mean(UCL > 4)
I Code
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T () 451 7 o 2 1 ) () AR S AR R AR A TR T R, X S 4
iTMonte Carloflivl. X 15 4L F iMonte CarloJy it #5 h & 2 4
Bootstrop Jiik. KT Bootstrap J7VEIRATEAEGH 2£2>].

1.3 Monte Carlo Methods for Hypothesis Tests
M8 FA 122 I T 3R B 56 [
Hyp:0€0©g wvs Hp:0, €0,

EKH O, 01 WS RO HIS).
GEvh B b PRI

o Type I error: FARGHIEL, (HLFR - 2B 2 IEHHI1;
e Type II error: FARBHEFEZ, (LR L 2B BOR TR,
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KB BV, o, AR LA EAR B R KT =
HOMEAH, W (0) WINLERBAIBER, W)

a = sup 7(0).
[USISH)

—RVER SR M BRI A, BRI A s, R — AN e 2R
WAAT WEEIRZ UG, WM — TR PN I8 i o,

ETHRRG B, T* RS BN, WFRT 282K, Wik
TT*RR L5 0 RIL R Hy. BEMERpE AU ARRG T W
B NRAT Eafd.

1.4 Empirical Type I error rate

Monte CarlofEfla] LUK THST — MR I ik 28 00 — R B R A R e
BB PRI, W 25— RATRFE NI G B A b g W
Lt
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Monte Carlotfdi kit 25569 — R 452 5
1 AAENELG, j=1,--- ,m.
(a) IWEA = F AL 20 2,
(b) AT & jMEATHABRRITET;
(C) TR AR %Ij = l,JEHoftm%'fi7KJT"a'F%)§LJTE
%; N 1; = 0.

2. HHE B b L Zm I;, Serb ] Bp A LM 2) 44
—RAR A

HpRm Al v i — RV W IARHE Ty 22 A o4

se(p) = /PP < D5

m vm

Previous Next First Last Back Forward

18



BT BWA—BEIRE %X, -, Xo0 i4.d N(u,02), BEHo : p =

500 Hy : p > 500. fEEBET,

e X500
T sV

RIT* R SCHEX ST B Tl Monte CarloJ7 ik i+ 5 AEo = 1001 )

—IETRA, SRR TR EVT0.05.

n <- 20; alpha <- .05; mu0 <- 500; sigma <- 100;
m <- 10000 #number of replicates
p <- numeric(m) #storage for p-values
for (j in 1:m) {
x <- rnorm(n, muO, sigma)

ttest <- t.test(x, alternative = "greater", mu = mu0)
plj]l <- ttest$p.value
}

p.-hat <- mean(p < alpha)
se.hat <- sqrt(p.hat * (1 - p.hat) / m)
print(c(p.hat, se.hat))
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plot(1l:m,cumsum(p<alpha)/1:m,type="1")

abline(h=0.05)
L Code

B8 IEZSSHERERLE —ABYLASE X H R E0E LY

E[(X — p)?]
2 I

B1L =

ag
Ky = EX, 0% = Var(X). — AR TRE, W = 0; FRONZIE
PRI, BL > 0B 2 FUl i i By < 0. WEE BB A

% Z?:I(Xi - X)S
(G i (X = X)2)372

n

by =
ALEY, Ay — B1) 22 N(0,6). EAAMEATFRI S0, itk 2%
T L SR AN A 2 35 R A A

Hop:81=0 wvs Hj:pB1#0.
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NI A DAJE T 560 40 v b A 3 — AN S0 VR ).
[b1] > za \/6/7, Reject Hy; Otherwise, Accept Hy.

S RFEACK AT, o5 i B35 I /K IE BIE E M 235 MKt = 0.05;
X ANFEARBE, T o0 IBE 20A ANT 433, TG D (0 2 25 P A AN R 73 3
(EI 2256 (1 — A4 R ZE ] LU Monte Carlo/y ik Attt

TCode

n <- c(10, 20, 30, 50, 100, 500) #sample sizes
cv <- gnorm(.975, 0, sqrt(6/n)) #asymptotical crit. values for each n

sk <- function(x) {
#computes the sample skewness coeff.
xbar <- mean(x)
m3 <- mean((x - xbar) 3)
m2 <- mean((x - xbar)"2)
return( m3 / m2°1.5 )
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#n is a vector of sample sizes
#we are doing length(n) different simulations
p.reject <- numeric(length(n)) #to store sim. results

m <- 10000 #num. repl. each sim.
for (i in 1:length(n)) {
sktests <- numeric(m) #test decisions

for (j in 1:m) {
x <- rnorm(n[i])
#test decision is 1 (reject) or O (Accept)
sktests[j] <- as.integer(abs(sk(x)) >= cv[i] )
}
p.reject[i] <- mean(sktests) #proportion rejected
}
names (p.reject)<-as.character(n)
p.reject
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45 AW AD IR AR I, IRl B0 11 5 3 PR RSP (i A1, S AT IS B G
{0.05. fEIEASATR, nJ RISkl

6(n —2)
(n+1)(n+3)
BRI, /NP, EAZAE FET Il 7 28 ke S 56 1 s S

Var(b1) =

TCode
cv<-gnorm(.975, 0, sqrt(6*(n-2)/((n+1)*(n+3)))) # crit. values for each n

p.reject <- numeric(length(n)) #to store sim. results

m <- 10000 #num. repl. each sim.
for (i in 1:length(n)) {
sktests <- numeric(m) #test decisions

for (j in 1:m) {
x <- rnorm(n[i])
#test decision is 1 (reject) or O (Accept)
sktests[j] <- as.integer(abs(sk(x)) >= cv[i] )
}
p.reject[i] <- mean(sktests) #proportion rejected
}

p.reject
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IUAEAF B4 Tk P A 44 U{H0.05 T .
1.4.1 Power of a Test
— MR K D RE SO
7(0) = Py(Reject Ho)

N —A01 € O, L RENR RN — w(0,). BAH, AT A
AN R0 DA RGBT . — B DR I 3 MK ok R T 2 o, IS
10 RS A R TR m M Dk, BRIk, 7R LB AN BT AR Gl 2 KPR
KBy, FATEEOGER 12 LR e AT T, — MR B Bl L B AN 2 T8 iy —
AN, B — AN 5 B T (01) ARSI AE X SRR R IO fE. 2 — M
19 T 280 BB AT 43 M I A AE U, TR 3 FERF € 101 € ©1 AL IME v] LAl
I Monte Carlo/7 %351
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Monte Carlo 7 ikt FAa3h 64 o 2
1. F—AFE 0, € O.
2. HEANELG, j=1,--,m.
(a) EXTZBIEZEO = 01 9HF LT = £ F A A
A x(]) mSLJ)7
(b) AT HjMERT BRI T,
(c) BRIERLRI = 1, FHok REMHAKFaTHIE
4; TN I; =0.

3. AR F WIS L ST 1, Sk BB h AL 2] g
—RIARR

B19: f AT A7 AR IS S TH I @ ) 2 I TH LR B 2%

n <- 20
m <- 1000
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mu0 <- 500

sigma <- 100

mu <- c(seq(450, 650, 10)) #alternatives
M <- length(mu)

power <- numeric(M)

for (4 in 1:M) {

mul <- mu[i]
pvalues <- replicate(m, expr = {
#simulate under alternative mul
x <- rnorm(n, mean = mul, sd = sigma)
ttest <- t.test(x,
alternative = "greater", mu = muO)
ttest$p.value 1} )
power[i] <- mean(pvalues <= .05)

i Hmisctl [ [flerrbar i %1

i vk B R (0) FFAE ) dkpower ™, TR I 4 28 30 )RR BRI IS8, FRAT I L
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par (ask = TRUE)
library(Hmisc) #for errbar
plot(mu, power)

abline(v = mu0, 1ty = 1)
abline(h = .05, 1ty = 1)

#add standard errors

se <- sqrt(power * (1-power) / m)

errbar(mu, power, yplus = power+se, yminus = power-se,
xlab = bquote(theta))

lines(mu, power, lty=3)

detach(package:Hmisc)

par(ask = FALSE)

| Code

EERR R, M BH : po= po vs Hi:op # poll 5, K48
BT = (X — w)/(S/v/n)EZ BT At e A, W0 76X SR BT,
TR O A, 0B EONS = (b — po)v/n/o. LER AT LMEH B8
Hipower.t.test AR TH TR U0 ) L) Bk R4 E IR0 N 2 R S H .
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Bl10: REEDSH TIESIHREREHITIN EFI8h, JA 1% E T IESE
i FE R0 1K) — BUAF DR AR W TRG IR

pN(0,02 =1)+ (1 —p)N(0,02 =100),0 < p < 1.

p = 0,1, AIESDAN; M0 < p < 1, AFAIESDAG. Bk, FAT
="MW A TR ESE MR R EHRBEFEEKFa = 0.1, FEA
Hn = 30. TATERZILE—m = 25000k 5012

TCode
alpha <- .1

n <- 30

m <- 2500

epsilon <- c(seq(0, .15, .01), seq(.15, 1, .05))

N <- length(epsilon)

pwr <- numeric(N)

#critical value for the skewness test

cv <- gnorm(l-alpha/2, 0, sqrt(6*(n-2) / ((n+1)*(n+3))))

for (j in 1:N) { #for each epsilon
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e <- epsilon[j]
sktests <- numeric(m)
for (i in 1:m) { #for each replicate
sigma <- sample(c(1l, 10), replace = TRUE,
size = n, prob = c(l-e, e))
x <- rnorm(n, O, sigma)
sktests[i] <- as.integer(abs(sk(x)) >= cv)
}
pwr[j] <- mean(sktests)
}
#plot power vs epsilon
plot(epsilon, pwr, type = "b",
xlab = bquote(epsilon), ylim = c(0,1))
abline(h = .1, 1ty = 3)
se <- sqrt(pwr * (1-pwr) / m) #add standard errors
lines(epsilon, pwr+se, lty = 3)

lines(epsilon, pwr-se, lty = 3)
I Code

LI TR B ZfEp = OFlp = 1 S HLa = 0.1, X0 < p < 1, Tk
HKT0.1, B KMEKLTEp = 0.154b15 ).
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1.4.2 Power Comparisons

Monte Carlo /5 %285 M T LA AR B AL, AT FATHEXS T IE A
JERGHI: ) AU LA SG: (R DR 5. SRR T IE PGS0 O A R 2 AR K77
. BATXHLE 8 = Fia e Jrik.

Bl ESMERE R LR o JCIEAS MK W, B Shapiro-
Wilkfa %, Energy e M AR5 =ik 46 (1 D) A2 5+
BN N ——JCIES M, RS

Ho:Fx €N ws Hy:Fx ¢ N.

Shapiro-Wilk % A& 3 F F A 7 G 1 0 B AE IEA ML T IN
W ARIRIA, e T e T T R O S R 36 vk R A
H7 < n <2000, LB ST RIS SUEE S S S R W AR R B A
BENLZ S 3 3. 2% B R T i 57 2 Shapiro-Wilk Kz 56 /7. 2R, 7]
Pl shapiro.test Hi%{EShapiro-Wilkf 4.
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Energy 86 & 5& T3l 50 A5 R 1E A 59 A5 2 [ 1) energy” BH & HEATAS 36, 1A
PR RIS S5 U A A M. energy K90 FH SR AL IG 22 70 IE A PR 1) —Fif
Jivd, KRN E R R HEF I = 1, TE— 0 IESAE T, energy 40 KL T
Anderson-Darlingf 5. energyfri &ttt

2 & 1 <
Qn=n [n ZEHzi—X\—EHX—X’II— oz Z ||33i_mj||:| ,
=1

i,j=1
H X, XN i dIES MR, KWQ, (RN EEE. F£—xEET,
Qn W LARIR N

2

Qn=n { Z(QY@ )+ 26(Y;)) — N Z(Qk—l—n)}/(k):l

Horhy; = ZUX YooY, Yl KRS 5 8ux, ox K
A, MR ARBEAMEPE AT 2. f£2 ol ERAE RN AKX, ERP
energyf i td & fEenergy ', 4P Amvnorm.etest.

Previous Next First Last Back Forward 31



S5 PR 58 A BRATT AT T 1 b 0 A . FRATTHUR MK N =
0.1, W8N

(1—p)N(p=0,0°=1) + pN(n= 0,0 =100), 0<p <1

Mp = 0HH LI, 7041 0 IR A, B 2006 ) — B R R 0 Nl 44 SCIV S 3
Fa = 0.184HME, TfT BOGRITEAO < p < 1IN =M% D LA

TCode

library(energy)

alpha <- .1

n <- 30

m <- 500 #try small m for a trial run

testl <- test2 <- test3 <- numeric(m)

#critical value for the skewness test

cv <- gnorm(1l-alpha/2, 0, sqrt(6%(n-2) / ((n+1)*(n+3))))
sim <- matrix(0, 11, 4)

# estimate power
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for (i in 0:10) {
epsilon <- i * .1
for (j in 1:m) {
e <- epsilon
sigma <- sample(c(1l, 10), replace = TRUE,
size = n, prob = c(l-e, e))
x <- rnorm(n, O, sigma)
test1[j] <- as.integer(abs(sk(x)) >= cv)
test2[j] <- as.integer(
shapiro.test(x)$p.value <= alpha)
test3[j] <- as.integer(
mvnorm.etest(x, R=200)$p.value <= alpha)
}
print(c(epsilon, mean(testl), mean(test2), mean(test3)))
sim[i+1, ] <- c(epsilon, mean(testl), mean(test2), mean(test3))
}
detach(package:energy)

# plot the empirical estimates of power
plot(sim[,1], sim[,2], ylim = c(0, 1), type = "1",
xlab = bquote(epsilon), ylab = "power")
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2)
4)

lines(sim[,1], sim[,3], 1ty

lines(sim[,1], sim[,4], 1ty

abline(h = alpha, 1ty = 3)

legend("topright", 1, c("skewness", "S-W", "energy"),
1ty = c(1,2,4), inset = .02)

4k J R W] Shapiro-Wilks# K Flenergyfr 30 (ER B bR & P H HE EARZ )
B, B P B En = 30 Flp < 0.5. AN 56 16 T 300 L i 56 A% 562 ¥ 3
UK, energy BB LK AE0.5 < p < 0.88F Tl K.

1.5 Application: “Count Five” Test for Equal
Variance

AR A AR R PIREAR TS 225 1R 775, 7 Count five” K27y 2255
7% HMcGrath Fl Yeh 5N, I — AR T 5 Sh— 2R I A
VGBI AR AN S B AUREA IS (LRI A AT ). — AT I — A
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U D SAHRAE R, W 442577 72 S .

51 12: Count Five test statistic 30 N HE ] 13 1 W A 56 .

TCode
x1 <- rnorm(20, 0, sd = 1)
x2 <- rnorm(20, 0, sd = 1.5)
y <- c(x1, x2)
group <- rep(1:2, each = length(x1))
boxplot(y ~ group, boxwex = .3, xlim = c(.5, 2.5), main = "")
points(group, y)
L Code
IR WAL AR, 8 Box Pl gt mT LA B Lo S H AR S (R AR AR 2. B mT BT
CRURS
TCode
# now identify the extreme points
range (x1)
range (x2)
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i <- which(xl < min(x2))
j <- which(x2 > max(x1))

x1[i]
x2[j]

outl <- sum(xl > max(x2)) + sum(xl < min(x2))
out2 <- sum(x2 > max(x1)) + sum(x2 < min(x1))
max(c(outl, out2))

1 Code
G BRATTAN BB 4 7 25 55 M (AR 2.
5 13: ZRME—IESS % PMIMEN AR, HitCount Fivetls
PIRES MR XENS T, F % H0.80,0.90F00.95 53 1.
T B Bomaxout TS SR IO 43 A T LU i Monte Carlo s
Pl
TCode
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maxout <- function(x, y) {
X <- x - mean(x)
Y <- y - mean(y)
outx <- sum(X > max(Y)) + sum(X < min(Y))
outy <- sum(Y > max(X)) + sum(Y < min(X))
return(max(c(outx, outy)))

nl <- n2 <- 20; mul <- mu2 <- 0; sigmal <- sigma2 <- 1; m <- 1000

# generate samples under HO
stat <- replicate(m, expr={
x <- rnorm(ni, mul, sigmal)
y <- rnorm(n2, mu2, sigma2)
maxout (x, y)
b
print (cumsum(table(stat)) / m)
print(quantile(stat, c(.8, .9, .95)))
| Code

Previous Next First Last Back Forward 37



R quantiledd £145 H 110.9573 1 HUE6, B WHa = 0.05, W5 A I
FUHTEAIE. quantilepfi 3 45 H I BT AR R TR drihy, DRt — i B 2
FIZ6 53 A0 R B LS.

McGrath F1 YehilF#3 T Count Five &5 H T 456 0o A B 7 2551
I 4 25 PP B 2 00,0625, SEFRof, M ARSSE — R A KN Y, BEALRE A ]
LR Ik 22 & 1 M REAR B (SR 0.

5l 14: H2EHMERD SESRXBESBNFELREERP LKL, #
FMonte CarloZ73x{fit BFCount Fivet3§ A B & MK .

TCode
count5test <- function(x, y) {

X <- x - mean(x)

Y <- y - mean(y)

outx <- sum(X > max(Y)) + sum(X < min(Y))
outy <- sum(Y > max(X)) + sum(Y < min(X))
# return 1 (reject) or O (do not reject HO)
return(as. integer (max(c(outx, outy)) > 5))
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nl <- n2 <- 20; mul <- mu2 <- 0; sigmal <- sigma2 <- 1;
m <- 10000
tests <- replicate(m, expr = {

x <- rnorm(nl, mul, sigmal)

y <- rnorm(n2, mu2, sigma2)

x <- x - mean(x) #centered by sample mean

y <= y - mean(y)

count5test(x, y)

)

alphahat <- mean(tests)
print (alphahat)

| Code

AR BRI TN, MZR 58 I — AT iR 2 K249 20 0.055 (i 1451+ il
TR, A AT IR A S A AR SR IME, — R R AR KL 40,0565 (se=
0.0022).
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Bl 15: EEH) 13, HRBEFRBFERETERN, THEZWH—BIEIRE.

TCode
nl <- 20

n2 <- 30

mul <- mu2 <- 0
sigmal <- sigma2 <- 1
m <- 10000

alphahat <- mean(replicate(m, expr={
x <- rnorm(nl, mul, sigmal)
y <- rnorm(n2, mu2, sigma2)
x <- x - mean(x) #centered by sample mean
y <= y - mean(y)
countbtest(x, y)
m

print (alphahat)
LCode
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2 R Y AL FEA I FEA B AN I, Count Fiveld % 354 10.06254%
R

51 16: 1 FiMonte CarloZ i%ft itCount FivelGI& BITHZL. A S
HAN(p1 = 0,07 =1) FAN(p2 = 0,03 = 1.52), HAEAn, = ny = 20.

TCode
# generate samples under Hl to estimate power '
sigmal <- 1
sigma2 <- 1.5
power <- mean(replicate(m, expr={
x <- rnorm(20, O, sigmal)
y <- rnorm(20, O, sigma2)
countbtest(x, y)
1))
print (power)
L Code

XL o = 1,00 = 1.5 PRI IMZ 50 T2 90.3025(se < 0.005) .
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